20245 X R -HRPHH—RER(E)

BIER
4 S EE BEAM | TRES | 2REM \ wR | meE
ER | ®YET| A
XEAFH 2 12 2 2 0 2 300 1.0
FEE 52 22 HABRHER 2 14 1 2 0 2 300 3.5
R TR ER 2 12 4 1 0 1] 00 | 40
pE R EEFER 2 9 3 1 0 1] 00 | 30
BAXZFH 2 10 3 0 0 0 300 -
FEXIEIZr-Y30ER 2 9 3 2 0 2 300 1.5
&it 12 66 22 8 0 8 - 2.8
TOTER 2 4 1 1 0 1 300 1.0
I—Ay/X - TAYHER 2 1" 4 3 0 3 300 1.3
JEERFH 2 14 6 6 0 6 300 1.0
XALHRPH | XEAMEER 2 6 3 1 0 1] 00 | 30
LA T 1 7FR 2 14 8 2 0 2 300 4.0
DE - H2FH 2 23 13 1 0 1 300 13.0
&t 12 12 35 14 0 14 - 2.5
ARREZHR 2 8 3 2 0 2 300 1.5
HEFE et 2 1" 4 3 0 3 300 1.3
&it 4 19 1 5 0 5 - 1.4
REHFFH 3 1" 1 5 0 5 300 1.4
RELEEH
&it 3 1 1 5 0 5 - 1.4
REZH 2 19 9 1 0 1 300 9.0
BRAR—YER 2 8 5 3 0 3 300 1.7
HEFH 1 0 0 - - - 300 -
N
AERAR—YER 2 14 1 3 0 3 300 2.3
A=Y LY -4y AU MERE 2 1 3 2 0 2 300 1.5
&it 9 52 24 9 0 9 - 2.7
BEY RO A MER 3 18 14 9 0 9 300 1.6
Ry
&it 3 18 14 9 0 9 - 1.6
RREHE 10 58 27 10 0 10 300 2.7
e
&it 10 58 21 10 0 10 - 2.7
BUaER 6 o1 22 6 0 6 300 3.7
BURRREFH REFHE 6 54 31 6 0 6 300 5.2
&it 12 105 53 12 0 12 - 4.4
REZH 6 60 36 6 0 6 300 6.0
mErn
&it 6 60 36 6 0 6 - 6.0
EFRFR 6 33 16 6 0 6 300 2.7
ER 28
&it 6 33 16 6 0 6 - 2.7
BAFH 5 27 14 4 0 4 300 3.5
e
&it 5 21 14 4 0 4 - 3.5
BHEEFH 10 59 34 1 0 11 300 3.1
B IEES
&it 10 59 34 1 0 11 - 3.1
HEH 5 19 15 8 0 8 300 1.9
FEBIEER 5 17 8 1 0 1 300 1.1
B MR 5 28 10 9 0 9 300 1.1
d=22 =" 5 25 18 14 0 14 300 1.3
&it 20 89 o1 38 0 38 - 1.3




20245 X R -HRPHH—RER(E)

BREH
IR = Sl B SEANH | EEEH | ZEREH - ol i 2
E#R ey LEif &5t
1HHREFH 3 57 33 4 0 4 300 8.3
avEaL—4ICHEIEHR 3 45 25 3 0 3 300 8.3
1EERIE T 28
1FERA T 4 7FH 3 45 29 3 0 3 300 9.7
&5t 9 147 87 10 0 10 = 8.7
BESH 8 57 33 12 0 12 300 2.8
BEHHEE TARIZH 5 20 8 8 0 8 300 1.0
&5t 13 ) 41 20 0 20 = 2.1
e EER MZTETEPER 4 12 5 4 0 4 300 1.3
e TR 5 39 16 5 0 5 300 3.2
AT LIER 3 37 19 6 0 6 300 3.2
BREFIEH 3 33 15 4 0 4 300 3.8
T2ER
EIZFH 3 20 10 9 0 9 300 1.1
EYMIFRE 3 13 6 2 0 2 300 3.0
A ER 3 23 12 10 0 10 300 1.2
&5t 24 177 83 40 0 40 = 2.1
FEFH 3 34 26 4 2 6 300 4.3
EE
&5t 3 34 26 4 2 6 = 4.3
EEEIZH BEFBEISHR 6 9 7 7 0 7 300 1.0
EEEIZH B EIR 2 9 6 1 0 1 300 6.0
EEEE KEZF 4 45 35 4 0 4 300 8.8
BEEYMER 3 51 4 2 0 2 300 20.5
&5t 15 114 89 14 0 14 = 6.4
AR 4 7 5 5 0 5 300 1.0
AILEER
&5t 4 1 5 5 0 5 = 1.0
BExEH 3 4 2 2 0 2 300 1.0
it &R 3 0 0 - - - 300 -
X IR & ER
ABERITEH 2 4 3 3 0 3 300 1.0
&5t 8 8 5 5 0 5 = 1.0
B 3 10 7 3 0 3 300 2.3
BRI EE 3 i 4 4 0 4 300 1.0
BEER
BEMHZEHR 3 5 4 3 0 3 300 1.3
&5t 9 22 15 10 0 10 = 1.5
i &R 3 0 0 - - - 300 -
EE b EfaSa=45—3 a3 ER 2 1 1 1 0 1 300 1.0
&5t 5 1 1 1 0 1 = 1.0
ey Lop ! 4 11 7 6 0 6 300 1.2
EYEER EEEYRER 4 20 15 4 0 4 300 3.8
&5t 8 31 22 10 0 10 = 2.2
st 210 1,287 114 256 2 258 300 2.8
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